[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXKXKXKXKXKXMA/1-6400101-00001XX

Set0l for No.9395
[U=1{4,5,6,7,8,9,10, 11,12, 13, 14} |
No0I = A=1{4,8,9 13}

L B=1{4,5,7,11,13, 14} |
(U=1{1,2,3,4,5,6,7,8,9,10, 11, 12} |
No02 = A=1{2,3,7,12}
L B={1,9,11} |
[U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15} |
A=1{1,2,4,515
No03 = B:}2, 11, 14, 15§

L C=1{2,3,4,8,12,13, 14} ]
[U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15} |

No04 = A=1{2,5,12,13}
L B=1{1,2,7,9,13,15} ]
I=4 N B 2=A-B 3=4 UB
No05 = 4=C S5=BU(ANnC) 6=(4UB)n (BuU ()
7=(C-A4) n (C-B) 8=B -4 9=C n (B-4)

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXKKXXKXKXKXKXKXMA/1-6400101-00002XX

Set0l for No.9419
U=1{4,5,6,7,8,9,10,11,12,13,14}

No0I = A=1{4,5,9,10,11, 14}
B=1{5,6,13}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13}
No02 = A=1{4,6,7,8,10}
B=1{1,5,9}

U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17 }
- A=1{10,12, 14, 15, 16}
No03 = B=1{3,9,10, 11,13, 17}
C=1{4,512,13}
U=12,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}

No04 = A=1{2,3,9,10,13, 14}
B=1{4,8,13,16}
I=4 U B 2=B -4 3=(4-B) U (B-4)
No05 = 4=4 v C S=Bu(A4dnC) 6=(49vB)yn((Bu(C)
7=(C-4) U (C-B) 8=4-B 9=C N (B-4)

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKXXXKKKKKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXME/1-6400101-00003XX
Set01l for No.9428

U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12}
No0I = A=1{3,4,5}
B=1{2,4,6,7,10,12}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13}
No02 = A=1{1,3,4,511}
B=1{1,2,4,56,8,13}
U={3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}

A=1{4,8,9,15}
No03 = B=1{4,57,8, 11}

C=1{9,11,13}

U=1{3,4,56,7,8,9,10,11, 12,13}
No04 = A=1{9,11,12,13}
B=1{4,5,6,9,10, 12,13}
I=4 N B 2=A-B 3=4 UB
No05 = 4=4 S5=4AU(BNC) 6=(4UB)N (4uU C)
7=(B-A4) U (B-C) 8=C-B 9=(B-C) -4

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXM4E/1-6400101-00004XX
Set0l for No.9459

U=1{1,2,3,4,5,6,7,8,9,10,11}

NoOI = A=1{6,7,10}
B=1{5,7,9,10}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12, 13}
No02 = A=1{2,4,8,10,13}

B=1{1,4,5,6,7,10,13}

U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17}
A=13,5,6,8,9,11,17}

No03 = B=19,14, 16}
C=1{2,5,11,14,16}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}

No04 = A=1{10,11,12,13}
B=1{2,5,6,7,13}

1=4 U B 2=A-B 3=(4 U B)

No05 = 4=B S5=CuAnNnB) 6=(4UC)n (BuUQC)
7=(A4-B) N (4-C) 8=B -4 9=(B-4)-C

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXM4E/1-6400101-00005XX
Set0l for No.9476

U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13}
NoOI = A=1{5,6,10}
B=1{3,57,9,10,13}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14}
No02 = A=1{3,9,11}
B=1{0,3,7,9,10,11, 12}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15}
A=1{5,10,14,15}

No03 = B=1{2,8,10}
C=1{2,4,6,9,12, 13,14}
U={3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
No04 = A=1{6,8,9,10,11}

B=1{3,4,5,6,7,8,12}

1=B 2=B-4 3=(4 N B)
No05 = 4=B S5=BNn(A4uUC) .6=(4n B)uU (Bn C)

7=(C-A4) U (C-B) 8=4 U C 9=(C-4)-B

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXM4E/1-6400101-00006XX
Set0l for No.9491

U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}
No0I = A=1{2,6,8}
B=1{1,2,4,7,9,11}
U=1{4,5,6,7,8,9,10, 11, 12,13, 14,15}

No02 = A=1{4,6,8,9,15}
B=1{4,5,9,13}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=1{3,8,14
No03 = B= {1{, 2, 10, 1}2}
C={1,4,11,13,17}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No04 = A=1{4,12,16}
B=1{7,8,12,13, 14,17}
I=4 U B 2=4-B 3=(4 U B)
No05 = 4=C S5=4A U (BNC) 6=(4UB)n (4u C)
7=(C-A4) n (C-B) 8=4 U B 9=(C-4)-B

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKKKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXM4E/1-6400101-00007XX
Set0l for No.9633

U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}
NoOI = A=1{4,8,10,11,13}
B=1{6,7,9,10,12,15}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=1{2,3,5}
B=1{3,5,6,9,10, 12}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=12,5,8,9,12, 13,15}

No03 = B=1{5,6,11,16}
C=1{2,8,12}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No04 = A=1{2,4,7,10,12,16}
B=1{10,11, 14,16}
1=4 U B 2=4-B 3=(4 U B)
No05 = 4=C S5=CuAnB) 6=(4UC)n (BuUC)
7=(C-A4) U (C-B) 8=C-4 9=B N (4-C)

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXM4E/1-6400101-00008XX
Set0l for No.9711

U=1{4,5,6,7,8,9,10,11,12,13,14, 15,16}

No0l = A=1{6,7,11,14,15}
B=1{5,7,12}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
No02 = A=1{1,4,57,9,10,11}
B=1{0,1,2,3}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=1{7,13,15}
No03 = B=1{2,4,5,9, 10,11, 13}
C={3,10,11,14}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{568,13}
B=1{6,9,10,12, 14}
1=4 N B 2=A-B 3=(4 N B)
No05 = 4=4 v C S=Cu(AdnB) 6=(4vC)n(Bul)
7=(4-B) U (4-0C) 8=B-C 9=B N (C-4)

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXM4E/1-6400101-00009XX
Set0l for No.9784

U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No0I = A=1{7,12,13}
B=1{2,6,11,12}
U=1{1,2,3,4,5,6,7,8,9,10, 11}

No02 = A=1{2,579}
B=1{1,2,4,56,7,9}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18 }
A=1{6,12,17}

No03 = B=1{1,58,13,14,17, 18}
C=1{1,6,10,12,13,15}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12,13}
No04 = A=1{1,2,6,11,12,13}
B=1{2,3,4,6,11}
I=4 U B 2=4A-B 3=(4 U B)
No05 = 4=4 S5=ANn(BUC) 6=(4NnB)uU (4n C)
7=(C-A4) n (C-B) 8=4 n C 9=(C-B) -4

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXKKXXXKXKXKXMA/1-6400101-00010XX
Set01l for No.10048

U=1{1,2,3,4,5,6,7,8,9,10,11}

NoOI = A=1{2,3,7,11}
B=1{24,8}
[U=1(3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17 } |
No02 = A=1{4,7,16}

i B=1{7,8,911,15,17} ]
[U=10,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14,15} |

A={1,11,12

No03 = B= {{1, 7,9, 12}}

i C=1{2,3,6,8,12, 14} ]
U=1{0,1,2,3,4,5,6,7,8,9,10}

No04 = A=1{3,7,9}

B=1{0,4,8,9,10}

I=4 N B 2=B-4 3=(4-B) N (B-A4)
No05 = 4=B S5=4ANn(BUC) 6=(A4NnB)uU (4n C)
7=(B-A4) U (B-C) 8=B-C 9=(C-4)-B

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXKXKXKXKXMA/1-6400101-00011XX
Set01l for No.10143

U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13}
NoOI = A=1{3,58)}
B=1{2,4,57,9, 13}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
No02 = A=12,3,6,8,10}

B=1{0,2,5,6,7,9,10}

U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15}
A=1{1,57,8,9,13, 14}

No03 = B=1{9,10,14,15}

C=1{4,5,9,10,13}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}

No04 = A=1{3,5912,13,15}

B=1{2,4,12,13,15}
1=B 2=B-A4 3=(4-B) U (B-4)
No05 = 4=B S5=4A U (BN C) 6=(4UB)n (4uU C)
7=(C-A4) n (C-B) 8=4-C 9=(C-B) -4

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXKXKXKXKXMA/1-6400101-00012XX
Set0l for No.10359

U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12}
No0I = A=1{3,510}
B=1{6,8,11,12}
U=1{4,5,6,7,8,9,10, 11, 12,13, 14, 15, 16, 17}
No02 = A=15,7,8,9,11,13,15}
B=1{4,13,16}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=1{3,4,11,12,13}

No03 = B=1{2,5,7,8,10,14}
C={12, 14,15}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{2,5,7,9,10,13, 14}
B=1{5,8,9,10,13}
I=4 U B 2=A-B 3=(4-B) U (B—4)
No05 = 4=C 5=CuAdnNnB) 6=(4UC)n (BuUC)
7=(B-A4) N (B-C) 8=B -4 9=(4-B)-C

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXKXKXMA/1-6400101-00013XX
Set0l for No.10626

U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No0I = A=19,10,12}
B=1{3,4,11,13, 14}
U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16}
No02 = A=1{4,56,7,13,15}
B=1{3,7,10, 14}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=1{1,2,12,17}

No03 = B=1{1,4,7,9,10,12,17}
C=1{1,5,6,8,13, 14}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16}
No04 = A=1{6,7,8,9,11,14,16}
B=1{4,6,12,13, 14}
I=4 N B 2=B-4 3=(4 U B)
No05 = 4=4 S5=BNn(A4uUC) .6=(4n B)uU (Bn C)
7=(C-A4) n (C-B) 8=4-C 9=(C-A4)-B

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKKXKXKXKXMA/1-6400101-00014XX
Set01l for No.11002

U=1{2,3,4,5,6,7,8,9,10, 11,12}

No01I = A=1{5,7,11,12}
B=1{8,9,11}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14}
No02 = A=1{4,5 10,14}

B=1{2,3,9,10, 13}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18 }
A=1{1,9, 11,13, 14, 16, 18}

No03 = B=1{3,6,7,9, 11,15}
C={4,8,15}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17, 18}
No04 = A=1{6,9,11,14, 15,16, 18}

B=1{5,8,17,18}

1=B 2=B -4 3=(4 U B)

No05 = 4=B N C S5=Cn(A4UB) 6=(4nNn C)uU (Bn C)
7=(C-4) U (C-B) 8=4-C 9=(4-B)-C

X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKKXXKXKXXKXKXMA/1-6400101-00015XX
Set0l for No.11188

U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13}
NoOI = A=16,8,9}
B=1{3,57,8,9, 11}
U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17}
No02 = A=1{3,9,10}
B=1{6,7,8, 14,17}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
A=1{4,579}

No03 = B=1{3,6,7,9,13,16}
C=1{6,7,9,11,13,14,15}
U=1{2,3,4,5,6,7,8,9,10, 11,12}
No04 = A=1{6,9,10,11}
B=1{7,8,9}
I=4 N B 2=4A-B 3=4 UB
No05 = 4=4 N B S5=4 U (BNC) 6=(4UB)n (4uU C)
7=(B-A4) U (B-C) 8=4 N B 9=(C-A4)-B

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXKXXKXXMA/1-6400101-00016XX
Set0l for No.11505

U=10,1,2,3,4,5,6,7,8,9,10,11, 12}
No01 = A=1{1,2,5,11}
B=1{0,3,4,5,9}
U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No02 = A=1{6,9,10,11, 12, 13,15}
B=1{5,8,9,15,16}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18}
A=1{2,4,6,7,8,10}

No0s3 = B=1{4,9,10,13, 15,16, 17}
C=1{6,10,11,14,15}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12,13}
No04 = A=1{2,3,5,9,10,12,13}
B=1{1,2,8,10}
1=4 U B 2=4-B 3=(4-B) U (B-4)
No05 = 4=4 N B Sd=Cu(AdnB) 6=(4vC)n(Bul)

7=(B-A4) U (B-C) 8=4 U B 9=(C-B) -4

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKXKXXXXKKKXXXXKXKXXXKKKXKXXKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXKXKXMA/1-6400101-00017XX
Set0l for No.12113

U=1{1,2,3,4,5,6,7,8,9,10,11}

NoOI = A=1{3,4,5,6,7,9}
B=1{1,4,5)
U=1{4,5,6,7,8,9,10, 11, 12,13, 14, 15,16}
No02 = A=1{512,16}

B=1{5,6,7,8,13, 14,15}

U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
A=15,8,9,10,12}

No03 = B=1{4,12,13}

C=1{4,6,9,12, 14,15}

U=1{2,3,4,5,6,7,8,9,10, 11,12, 13}

No04 = A=1{2,3,9,11}

B=1{3,4,6,8,9,11}

I=4 N B 2=A-B 3=(4-B) n (B-4)
No05 = 4=4 S5=4U(BNC) 6=(4UB)n (4uU C)
7=(C-A4) n (C-B) 8=B-C 9=4 N (C-B)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXKXKXXMA/1-6400101-00018XX
Set0l for No.12541

U=1{4,5,6,7,8,9,10,11,12,13,14, 15,16}

No01 = A=1{4,8,14,15,16}
B=1{4,6,8,15}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No02 = A=1{4,6,8,14,15}

B=1{4,8,9,12,14, 16,17}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
A=1{2,3,10,12, 13}
B=1{1,411}
C=1{2,3,56,11,12, 14}
U={4,5,6,7,8,9,10,11,12,13,14,15}
No04 = A=1{4,7,10,11,13,14}
B=1{5,6,7,12,14}
I=4 N B 2=B-4 3=4 UB
No05 = 4=Bn C S=An(BuCC) 6=(AnNnB)yu(dnC)

7=(A-B) N (4-C) 8=C-B 9=(4-B)-C
X [Page = 0009] XXXXXXXXXXKXXXXXKXXXXXXKXKXXXKXXKXKXXKXKXKXKXKXKXXKKXKXKXXKXKXKKXKXXXKXKKXKXKXKKKKK

No03 =



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXKXMA/1-6400101-00019XX
Set0l for No.12584

U=1{0,1,2,3,4,5,6,7,8,9,10}

No0I = A=1{2,8,10}
B=1{5,7,9,10}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13}
No02 = A=1{6,7,8,9, 11,13}

B=1{1,2,4,58,9,12}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16 }
A=10,7,10}

No03 = B=1{3,4,10,14}
C=1{0,5,9,11,12,13}
U=1{3,4,56,7,8,9,10,11, 12,13}
No04 = A=1{4,506,8,10,12}
B=1{3,4,5,6,9,10,12}
d=4 2=4-B 3=(4-B) U (B-4)
No05 = 4=C S5=Cn (A UB) 6=(4n C)uU (Bn C)
7=(C-A4) U (C-B) 8=4 N B 9=(C-B) -4

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXKKXXKXKXKXKXKXMA/1-6400101-00020XX
Set01l for No.12590

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No0I = A=1{8,15,16}
B=1{4,7,9,11,12, 14}
U=1{0,1,2,3,4,5,6,7,8,9,10}
No02 = A4=10,1,2,3,6,8,9}
B=1{1,2,3,57}
U=12,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18, 19, 20 }
A=1{3,510,11,13, 14,20}

No03 = B=1{2,4,6,11,13}

C=1{3,9,17,20}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No04 = A=1{2,8,10,11,13,16}
B=1{8,14,16}
I=4 N B 2=B-4 3=(4 U B)
No05 = 4=4 S5=4ANn(BUC) 6=(A4NnB)uU (4n C)
7=(4-B) U (4-C) 8=C-B 9=B N (4-C)

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
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Set0l for No.1l2621
U=1{2,3,4,5,6,7,8,9,10, 11,12, 13}
No01 = A=12,6,8,10,11, 13}
B=1{56,7,10,11}
U=10,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A4=10,1,2,3,5,9, 10}
B=1{2,3,6,9,10, 14}
U=1{1,2,3,4,5,6,7,8,9, 10, 11,12, 13, 14}
A=13,4,6,7,8,9,10}
No03 = B=1{2,4,9,10, 11,12}
C=19,10,12, 14}
U=1{3,4,5,6,7,8,9,10, 11, 12, 13}

No04 = A=1{3,518,9,11,13}
B:{3,5,7,8,9}
A=A 2=B-4 3=(4 n B)
No05 = 4=B N C S5=ANn(BUC) 6=(4n B)uU (4n C)
7=(A4-B) U (4-C) 8=C-4 9=4 N (C-B)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

g Math@MUT XXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XKXXXKXKXKXME/1-6400101-00022XX
Set01 for No.12641
U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
NoOI = A=1{6,7,8,12}
B=1{3,4,7,11, 14}
U=1{1,2,3,4,5,6,7,8,9,10, 11}
No02 = A=1{2,5,6,7}
B=1{2,4,5,6,9,10,11}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18}
A=1{0,6,9,12, 16, 18}
No03 = B=1{1,6,16,17, 18}
C=1{2,4, 14,15}
U=10,1,2,3,4,5,6,7,8,9, 10, 11,12, 13, 14}

No04 = 4=14,5,7,8,9}
B=1{3,4,5 13}
A=A 2=4A-B 3=(4 N B)
No05 = 4=4n C S=BnNn(40C) 6=(4AnNnB)yu ((Bn(C)
7=(B-A4) N (B-C) 8=B -4 9=4 N (C-B)

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKKXKXXXKKKXXXXKXKXXXKKKKXXKX




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXXKXKXMA/1-6400101-00023XX

Set01 for No.12674
U=1{0,1,2,3,4,5,6,7,8,9,10, 11}

NoO1 = A=15,7,8,10)
B=1{1,3,7,8,10,11}
U={4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16}
No02 = A=1{5,7,14}
B=1{4,56,7,12,14,15}
U=10,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=1{1,9,17
No03 = B=1{3,5, é 7,10, 1}3, 151
C=1{0,11,15,17}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}

No04 = A=1{6,7,10}
B=1{4,58,13,14,17}
A=A 2=A4A-B 3=4 N B
No05 = 4=4 U B S5=Cn(A4UB) 6=(4nNn C)uU (Bn C)
7=(C-4) U (C-B) 8=4 N B 9=B N (4-C)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXKXXKXKKXKKKXKMA/1-6400101-00024XX

Set0l for No.12728
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12}

No01 = A=10,5,6,12}
B=1{0,9,10}
U=1{0,1,2,3,4,5,6,7,8,9,10,11}
No02 = A=1{1,2,3,5,7,9,11}

B=1{1,2,4,9 11}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17 }
A=1{1,2,510, 14,15}

No03 = B=1{1,9,10}
C=1{578,11}
U=1{4,56,7,8,9,10, 11,12, 13, 14, 15,16, 17}
No04 = A=1{4,7,8,10,11,13}
B=1{4,5,8,12,13, 14,15}
1=B 2=A-B 3=(4 U B)
No05 = 4=4n C S=Bu (A4dnC) 6=(49vB)yn((BuU()

7=(C-A4) U (C-B) 8=4 N B 9=(B-C) -4

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXKXMA/1-6400101-00025XX
Set0l for No.13153

U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13}

NoOI = A=1{2,4,517}

B=1{10,12, 13}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15}

No02 = A=1{1,4,511}

B=1{1,4,7,9,12}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
A=1{1,2,3,12, 14}

No03 = B=1{4,9 10}
C=1{4,6,7,9}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12}
No04 = A=1{1,4,10,11}
B=1{1,3,9}
A=A 2=4A-B 3=(4 U B)
No05 = 4=4 U B S5=ANn(BUC) 6=(4n B)uU(4dn C)
7=(B-A4) U (B-C) 8=B -4 9=(C-A4)-B

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6400101-00026XX
Set01l for No.13698

U=1{3,4,5,6,7,8,9,10, 11, 12,13}
No01 = A=1{3,7,11,12}
B=1{4,6,8,10,12}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}
No02 = A=1{8,10,11}
B=1{3,4,7,8,12, 13, 14}
U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18 }
A=16,7,14,15 17}

No0s3 = B=1{5711,14, 15,17}
C=1{6,7,12,17}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17, 18}

No04 = A=1{4,8,12,1517,18}

B=1{5,6,7,12,13, 14,18}

d=4 2=B -4 3=(4 U B)
No05 = 4=B S5=Cn((AUB) 6=(4NnC)uU(Bn C)
7=(4-B) U (4-0C) 8=B n C 9=Cn (4-B)

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXMA/1-6400101-00027XX

Set0l for No.644101
U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}
NoOI = A=16,8,9,10,15}
B=1{711,13,14}
U=1{2,3,4,5,6,7,8,9,10,11,12}
No02 = A=12,4,5,7,9,10,11}
B=1{2,4,57,8,10}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18}
A=16,8,11,13,15}
B=1{2,567,810}
C=1{5,12,15,16}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13}

No03 =

No04 = A=1{2,6,13}
B=1{4,6,7,9,11,12,13}
1=B 2=B-4 3=(4 N B)
4=4 N B S=Cu(AdnB) 6=(49C)n(Bul)
9=C N (B-4)

No05 =
7=(A-B) n (A4-C) S=B u C
010:0:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0000000000606060606066600000000000000000000000000000000000H

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKKXKXXKXXKKXKKXKXKMA/1-6400101-00028XX

Set0l for No.644102
U={0,1,2,3,4,5,6,7,8,9,10,11, 12}
No01 = A=1{0,1,4,11,12}
B=1{0,1,4,6,10,12}
U={2,3,4,5,6,7,8,9,10, 11,12, 13}
No02 = A=1{2,5,11,12}
B={3,5,6,7,8}

U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
A=10,1,4,5,6,11, 14}

No03 = B=1{6,8,12}
C=10,4,9,10,11, 12}

U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}

No04 = A=1{0,9,10, 12}
B=1{3,4,5,6,9,11,12}
I=4 U B 2=B -4 3=4 UB
4=4 v C S=Bu (A4dnC) 6=(49vB)yn((BuU()
9=C N (4-B)

8=4 U C

No05 =
7=(C—-4) n (C-B)
I0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0000004
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKKXKXKXKXMA/1-6400101-00029XX
Set01l for No.644103

U=1{0,1,2,3,4,5,6,7,8,9,10}
No0l = A=1{0,1,517,8}
B=1{1,2,3,6,8,10}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=1{58,10,11,13}
B=1{5,6,8}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
A=12,517,9,13,14
No03 = ;={1,13, 141 }
C=1{0,2,3,5}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
No04 = A=1{4,7,11}
B=1{1,2,8,9,10,11}
I=4 N B 2=B-4 3=(4 U B)
No05 = 4=B S5=CuAnNnB) 6=(4UC)n (BuUQCQC)
7=(B-A4) U (B-C) 8=B-C 9=(C-B) -4

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

k Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXXXKXXXKXXXXXXKXXKXME/1-6400101-00030XX
Set0l for No.644104
U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
No01 = A=1{1,2,3,4,510}
B=1{1,4,6,7,8}
U=1{4,5,6,7,8,9,10,11,12, 13, 14}
No02 = A=1{8,10,14}
B=1{8,9,12,14}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
A=1{1,2,57 11,14}
No03 = B=1{2,4,8 11,13}
C=1{0,2,3,7,9,13, 14}
U=10,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14}

No04 = A=1{0,1,2,5,11,12,13}
B=1{2,3,4,6,14}
A=A 2=4A-B 3=4 UB
No05 = 4=B S5=4ANn(BUC) 6=(A4NnB)uU (4n C)
7=(4-B) U (4-C) 8=C-B 9=B N (4-C)

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKXXXKKKKKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXMA/1-6400101-00031XX
Set01l for No.644105

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14, 15}

No0I = A=1{7,9,13}

B=1{3,5,8,9}
U=1{3,4,5,6,7,8,9, 10,11, 12, 13, 14}

No02 = A=1{3,6,11}

B=1{3,4,6,7,9,10, 11}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
A: {374767 879}

No03 = B=1{2,513,14}
C=1{2,3,7,9,11,12,13}
U={3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
No04 = A=1{7,9,11,12, 14}

B=1{4,6,7,8,9,12,13}

A=A 2=4A-B 3=(4 U B)
No05 = 4=4 U B S5=CuUAdnNnB) 6=(4UC)n (BuUC)

7=(C=A4) n (C-B) 8=4-C 9=(C-A4)-B

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKXXMA/1-6400101-00032XX
Set0l for No.644106

U=1{3,4,5,6,7,8,9,10,11, 12,13}
No0I = A=1{3,7,10}
B=1{3,7,9,10, 11}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14}

No02 = A4=10,2,6,7,8, 14}
B=1{0,3,6,11}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16 }
NoD3 — A=1{2,4,811}

B=1{3,4,7,10, 11}
C=1{1,2,4,6,7,8}
U=1{0,1,2,3,4,5,6,7,8,9,10,11, 12, 13}

No04 = A=1{4,10,13}
B=1{2,4,7,10,11,12, 13}
I=4 U B 2=B-4 3=(4 U B)
No05 = 4=B S5=4AU(BNC) 6=(4UB)n (4uU C)
7=(4-B) U (4-C) 8=B -4 9=B N (4-C)

X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXMA/1-6400101-00033XX
Set0l for No.644107

U=1{2,3,4,5,6,7,8,9,10,11,12,13, 14}

No0l = A=1{5,6,8,9,12}
B=1{5,8,10,11,12, 14}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12,13}
No02 = A=1{2,4,511}
B=1{1,10,11}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18 }
A=1{0,1,2,3,7,17
No03 = B= {{1, 14, 15, 16, 17}}
C={12,13,14}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
No04 = A=1{1,511}
B=1{3,4,5,10}
1=4 U B 2=B-4 3=4 N B
No05 = 4=4 S5=CuU (4 N B)

Ob6=(4 v C)n (Bu ()
7=(C-A4) U (C-B) 8=4 U C 9=(B-4)-C

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

2 Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /1-6400101-00034XX

Set0l for No0.644108

U=1{0,1,2,3,4,5,6,7,8,9,10, 11}

A=1{3,5,6,9}
B=1{2,3,4,7,9,10}
[U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12, 13 } |
A=1{1,48,13}
L B=1{2,4,5,6,7,12,13} ]
[U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12, 13} |
A=1{2,4,13}

No03 = B=1{1,2,3,4,6}

L C={1,2,6,7,9,11,12}
U=1{1,2,3,4,5,6,7,8,9,10, 11}

No0l =

No02 =

No04 =

A=1{8,9,11}
B=1{1,2,3,5,6,8,10}
1=4 U B 2=B -4 3=4 N B
No05 = 4=B ~ C 5=4 U (B N O)

b6=(4 U B)n(4uv ()
7=(C-A4) n (C-B) 8=B U C 9=B N (4-C)

X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKKXXXKKKKKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXMA/1-6400101-00035XX
Set01l for No.644109

U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}

No0I = A4=10,2,3,8,9,11}
B={3,5 11}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14}
No02 = A=1{5,6,12}

B=1{5,8,9,11,12,13, 14}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
A=1{1,5,6,13}

No03 = B=1{1,2,3,4,7)
c=1{1,3,5,7,10,11,12}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12}
No04 = A={3,6,11}
B=1{3,5,6,7,9}
d=4 2=B-4 3=4 N B
No05 = 4=C S5=CuAnB) 6=(4UC)n (BuUC)
7=(C-A4) n (C-B) 8=4nC 9=(B-C) -4

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXMA/1-6400101-00036XX
Set01l for No.644110

U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13}

NoOI = A=1{2,6,11,12,13}

B=1{8,9, 11,12}
U=1{3,4,5,6,7,8,9, 10, 11,12, 13, 14, 15, 16, 17}

No02 = A=1{7,8,11,14,15}

B=1{4,7,11,12}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=1{3,4,57,8,9,12}

No03 = B=1{1,11,16}
C=1{1,2,3,7,9,16}
U=1{1,2,3,4,5,6,7,8,9,10, 11}
No04 = A=1{4,567,11}
B=1{4,6,7,8,9,10}
A=A 2=B -4 3=(4-B) U (B-4)
No05 = 4=C S5=Cn((AUB) 6=(4NnC)uU(Bn C)
7=(B-A4) N (B-C) 8=B n C 9=(C-A4)-B

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXKXKXKXMA/1-6400101-00037XX
Set0l for No.644111

U=1{0,1,2,3,4,5,6,7,8,9,10}
No0I = A=1{0,1,2,3,8}
B=1{3,4,56,7,8}
U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14}
No02 = A=1{4,6,7,8,9,10}
B=1{3,4,5,6,7,10,13}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14}
A=1{4,567}

No03 = B=1{0,2,3,5,6}
C=1{1,3,4,5,6,9,13}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}
No04 = A=1{1,8,11}
B=1{0,1,4,5,6,11}
I=4 U B 2=4-B 3=(4-B) N (B-4)
No05 = 4=B U C S5=BNn(A4duUC) 6=(4nB)u (Bn C)
7=(4-B) U (4-C) 8=4nC 9=(4-C)-B

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXKXXXXMA/1-6400101-00038XX
Set0l for No.644112

U=1{3,4,5,6,7,8,9,10, 11, 12,13, 14}
No01 = A=13,7,12,13}
B=1{5,9,10, 12,13, 14}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=10,1,5,13}
B=1{0,6,11}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13}
A=10,1,5,6,7,8,10}

No03 = B=1{3,4,8,12,13}
C=1{3,8,9,13}
U={3,4,5,6,7,8,9,10, 11,12, 13}
No04 = A=1{4,571,8,9,10, 12}
B=1{3,4,5,10,12,13}
1=B 2=A4-B 3=(4-B) N (B-4)
No05 = 4=4n C S=Cu(AdnB) 6=(4AvC)n(Bul)
7=(C=A4) n (C-B) 8=B -4 9=(C-B) -4

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKKKXKXXXXKKXXXXKXKXXXKKKXKXXKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXKKXXKKXKXKXKXMA/1-6400101-00039XX
Set0l for No.644113

U=1{2,3,4,5,6,7,8,9,10,11,12,13, 14}

No0I = A=12,3,4,7,10,13}
B=1{2,6,7,12}
U=1{4,5,6,7,8,9,10, 11, 12,13, 14,15}
No02 = A=1{58,9,13}
B=1{9,11,15}

U=1{3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16, 17}
A=16,9,10,16}

No03 = B=1{5,7,14,15,17}

C=1{5,6,7,10,11,17}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17 }

No04 = A=1{4,5,11,13,14,17}

B=1{4,9,11,12,15}
1=B 2=4-B 3=4 UB
No05 = 4=B S5=BuU(A4nNnC) 6=(4UB)n (BuC)
7=(4-B) N (4-C) 8=B-C 9=4 N (B-C)

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKXKXKXKXKXKXMA/1-6400101-00040XX
Set0l for No.644114

U=1{2,3,4,5,6,7,8,9,10, 11,12, 13, 14}

No0I = A=1{4,5 13}

B=1{2,3,8,12, 14}

U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16}
No02 = A=1{5,6,14,16}
B=1{3,4,7,10,13,15}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17}

A=1{1,5,11}

No03 = B=1{5,6,1516,17}
C=1{6,10,11,15}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12}
No04 = A=1{5,6,7,8,9,12}
B={1,10,12}
I=4 U B 2=4-B 3=(4 N B)
No05 = 4=4 N B S5=BNn(A4duUC) 6=(4nB)u (Bn C)
7=(B-A4) U (B-C) 8=C-B 9=C N (4-B)

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXKXKXMA/1-6400101-00041XX
Set0l for No.644115

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14}
No0I = A=1{5,8,9,13}
B=1{5,7,9,11,13,14}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14}
No02 = A=16,7,8,11, 14}
B=1{2,10,11}
U={3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}
A=1{3,4,7,9,13}

No03 = B=13,4,5,6,10,11, 14}
C={6,12,13,15}
U={3,4,5,6,7,8,9,10, 11,12, 13}
No04 = A=1{6,7,8,9,11}
B=1{3,4,7,8}
1=B 2=B-4 3=(4-B) U (B-4)
No05 = 4=4 U B S=Cu(AdnB) 6=(49C)n(Bul)
7=(4-B) U (4-0C) 8=C-B 9=B N (4-C)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXKXKXXMA/1-6400101-00042XX
Set0l for No.644116

U=1{3,4,5,6,7,8,9,10,11,12, 13}

No0l = A=13,6,9,10,11,12}
B=1{4,7,9,13}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14}
No02 = A=1{2,4,6,7,12}

B=1{1,2,4,6,9,12,13}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16 }
A=1{3,7,11,15}

No0s3 = B=1{3,8,9,10, 13, 14}

C={8,10,11}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12}
No04 = A=1{0,4,7,10,11}
B=1{3,511}
1=4 N B 2=B -4 3=4 N B
No05 = 4=4 N B S=Cn(A4AuB) 6=(ANnC)u(Bn ()
7=(4-B) U (4-C) 8=4 U B 9=4 N (B-C)

X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXMA/1-6400101-00043XX
Set0l for No.644117

U=1{2,3,4,5,6,7,8,9,10, 11,12}

No0l = A=1{2,4,6,9}

B=1{4,8,12}
[U=1(3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15} |

No02 = A=1{3,5,7,9}

L B=1{3,4,5,6,10,15} ]
[U=10,1,2,3,4,5,6,7,8,9,10, 11, 12, 13 } |
~ A=1{0,1,2,8}
No03 = B=1{3,57,8,9, 11,12}
L C=1{4,518,9,10}

U=1{1,2,3,4,5,6,7,8,9,10, 11}

No04 = A=1{3,4,7,9,10,11}
B=1{4,5,6,811}
I=4 U B 2=B-4 3=(4-B) N (B-A4)
No05 = 4=4 0 C S=A 0 (BNnC) 6=(4AuB)n(4uvC)
7=(C-4) n (C-B) 8=B -4

9=(C-B) -4
):0:9.9:9:9.9.9:0:0:0.9.9:9.9.9:0:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9:9.:0:0.0.9.9.9.9.9:0:0.0.0.9.9.9:0:0:0.0.0:9.9.9:0:0:0.0.9.9.9.9.9:0:0.0.0.9.9.9:0.:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXXXKXXXKXXKXXMA/1-6400101-00044XX
Set0l for No.644118

U=1{4,5,6,7,8,9,10,11,12, 13, 14}
NoO1I = A4=16,9,10,11, 13}
B=16,7,13,14}
U=10,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=1{1,2,3,6,9,10}
B=1{4,56,7,9, 10,12}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=1{1,3,7,8 11, 12, 14}
No03 = B=1{1,9,15}
C=1{4,11,13, 14}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13}

No04 = A=1{1,2,9}
B=1{2,3,5,8,9,10,13}
1=B 2=B-4 3=4 UB
No05 = 4=4 S5=4ANn(BuUC) 6=(A4NnB)uU (4n C)
7=(B-A4) U (B-C) 8=C-B

9=(B-4)-C

X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXKXKXXXKKKXKXXXKKKXKXKXXKXKXXXKKKKXKXKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXKXMA/1-6400101-00045XX
Set0l for No.644119

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14}

No0l = A=1{3,4,57,11}
B=1{7,9,10}
U=1{1,2,3,4,5,6,7,8,9,10,11}
No02 =

A=1{1,2,3,4,56,7}
B=1{1,4,528,11}
U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18 }
A=1{3,6,12,15,18
No03 = B:{3f4, 6,9,12, 13, 1}8}
C=1{3,811}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15}

No04 = A=1{4,5,6,7,8,9,11}
B=1{5,6,7,8,9,15}
1=B 2=B-4 3=4 UB
No05 = 4=4An C S5=4 U (BNC) 6=(4UB)n (4uU C)
7=(A4-B) N (4-C) 8=4nC

9=(4-C)-B
):9.9.9.9:9:9.9.0.0:0:0.9.9.9.9.9:9.0.9.0.0.0.:9.9.9.9.9.9.9.0.0.0:0:0.:9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.9.9.0.0.0:0:0,:9.9.9.9.9.9.0.0.0.0.0.9.9.9.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6400101-00046XX
Set0l for No0.644120

U=1{4,5,6,7,8,9,10,11,12,13, 14}
A=1{510,11,12}
B=19,10, 14}
U=1{4,5,6,7,8,9,10,11,12,13, 14,15, 16, 17}

No0l =

No02 = A=1{4,7,8,11,15}
B=1{6,12,15}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13}
A=1{4,8,13
No03 = B:{7f1o,11,fz}
C=1{3,4,5,9,11,12}
U=1{2,3,4,5,6,7,8,9,10, 11,12}
No04 = A=1{4,5,6,7,12}
B=1{4,56,7,8,11}
1=4 N B 2=B-4 3=4 N B
No05 = 4=B S5=Cn((AUB) 6=(4NnC)uU(Bn C)
7=(A-B) N (4-0C) 8=4 UB

9=(C-B) -4
X [Page = 0023] XXXXXXXXXXKXXXXXXXXXXXXKXXXXXXKXKXKXKXKXKKKKKXKXKXKKKKXKXKXKKXKKXKXKXKKKKX




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKKXXKXKXKXKXKXMA/1-6400101-00047XX
Set01l for No.644121

U=1{4,5,6,7,8,9,10,11, 12,13, 14}

No0I = A=1{4,57,11,12, 14}
B=1{8,9,11}
U=1{3,4,5,6,7,8,9, 10, 11,12, 13, 14, 15, 16, 17}
No02 = A=1{3,8,12,15,17}

B=19,14,15,17}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}

A=1{1,3,10}
No03 = B=1{2,3,6,12}
C=1{5,6,8,9,13, 14}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12,13}
No04 = A=1{1,5,6,8,10,11,12}
B=1{2,5,7,9,11,12}
I=4 U B 2=B-4 3=(4 N B)
No05 = 4=4An C S5=BNn(A4duUC) 6=(4nB)u (Bn C)
7=(B-A4) U (B-C) 8=B U C 9=(B-4)-C

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXXKXXMA/1-6400101-00048XX
Set01l for No.644122

U=1{3,4,5,6,7,8,9,10, 11, 12,13}

No0I = A=1{7,11,12}
B=1{3,5,6,7,811}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13}

No02 = A=1{3,511,13}
B=1{3,4,6,7,8,10,11}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16, 17}
A=1{1,2,7,8,10,13}

No03 = B=1{1,3,9,11,16}
C=1{1,10,13,17}
U=1{1,2,3,4,5,6,7,8,9,10, 11}
No04 = A=1{2,3,5,6,8,9}
B=1{1,2,6,7}
1=4 N B 2=4-B 3=(4-B) N (B-A4)
No05 = 4=B v C S=Cn(A4AuB) 6=(ANnC)u(Bn ()
7=(4-B) U (4-0C) 8=B -4 9=4 N (B-C)

X [Page = 0024] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXKXKXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXKXKXKXMA/1-6400101-00049XX
Set0l for No.644123

U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}
NoOI = A=1{3,4,7,8,13,15}
B=1{4,5 11,12}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
No02 = A=1{4,8, 14}
B=18,9,10, 11,12, 14,15}

U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19}

A=12,8,10,17}

No03 = B=1{2,4,9, 12,13}
C=1{1,4,5,9,10,18}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}

No04 = A=1{1,7,9,11,12}

B=1{2,5,6,7,8,11,12}

I=4 U B 2=B-4 3=4 UB
No05 = 4=4 S5=4ANn(BUC) 6=(A4NnB)uU (4n C)
7=(B-A4) N (B-C) 8=C-B 9=B N (4-C)

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKKXXKXKXKXKXKXMA/1-6400101-00050XX
Set01l for No.644124

U=1{1,2,3,4,5,6,7,8,9,10,11}

NoOI = A=1{2,3,6,9}

B=1{1,5,8)
U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13}

No02 = A=1{6,7,12}

B=1{5,7,9,11,12,13}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
A=12,3,5,8,9,10, 13}

No03 = B=1{4,5,6,10,12,16}

C={3,6,13,15}
U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14}

No04 = A=1{7,8,10,12}

B=1{9,10,12,13, 14}

1=B 2=A-B 3=(4-B) U (B-4)
No05 = 4=4 N B S5=4 U (BNC) 6=(4UB)n (4uU C)
7=(4-B) U (4-C) 8=4 N B 9=(4-C)-B

X [Page = 0025] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXKXMA/1-6400101-00051XX
Set01l for No.644125

U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13}
NoOI = A=1{5,9,12,13}
B=1{1,7,9,10,12}
U=1{3,4,5,6,7,8,9, 10, 11,12, 13, 14, 15, 16, 17}
No02 = A=1{3,4,5,9,12,15,17}
B=1{3,10,16}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}

A=1{3,6,9,10,11,13, 14}
No03 = B=1{4,8,9,10, 11,12}
C=1{3,5,9}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14}
No04 = A=1{51,8,9,12,14}
B=1{4,56,7,8,12, 14}
1=B 2=4-B 3=(4-B) U (B-4)
No05 = 4=B N C S5=BNn(A4uUC) 6=(4nB)uU(Bn C)
7=(C-A4) n (C-B) 8=B -4 9=4 N (C-B)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXXXKXXMA/1-6400101-00052XX
Set0l for No.644126

U=1{1,2,3,4,5,6,7,8,9, 10,11, 12}
No01 = A=1{1,3,4,56,8}
B=1{1,4,7,9,12}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18 }
No02 = A=16,7,9,16}
B=1{4,7,8,9,10,17}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13}
A=1{4,6,11,13}

No03 = B=1{1,2,3,11,12}
C=1{2,3,4,6,10,13}
U={3,4,5,6,7,8,9,10, 11,12, 13}
No04 = A=1{3,4,6,8,10,12,13}
B=1{7,11,13}
I=4 N B 2=A-B 3=4 N B
No05 = 4=4 v B S=BnNn(40C) 6=(AnNnB)yu ((Bn(C)
7=(A4-B) N (4-C) 8=4nC 9=(4-B)-C

X [Page = 0026] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXKXXXKKKXKXXXKKKXXXXKXKXXXKKKXKXXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXKXKXKXMA/1-6400101-00053XX
Set01l for No.644127

U=1{0,1,2,3,4,5,6,7,8,9,10,11}

NoOI = A=1{1,3,6,8,9,11}
B=1{1,7,9}
U=1{2,3,4,5,6,7,8,9,10, 11, 12,13, 14,15}
No02 = A=1{4,56,10,11,12,13}

B=1{4,5,7,12,14,15}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16 }
A=10,6,8,10, 11}

No03 = B={1,2,4,7}
C=1{1,3,4,9,13,14,16}
U=1{2,3,4,56,7,8,9,10,11, 12,13, 14,15, 16}
No04 = A=1{8,12,14,15}
B=1{2,4,6,9,12,16}
=4 2=A4-B 3=(4-B) N (B-4)
No05 = 4=C S5=BNn(AuUC) 6=(4nB)u(BnCO)
7=(4-B) N (4-C) 8=4 U C 9=4 N (C-B)

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKKXKXKXKXMA/1-6400101-00054XX
Set01l for No.644128

U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}
No0I = A=1{3,59,13,15}
B=1{4,6,7,8,12,14}
U=1{2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15}
No02 = A=1{8,9,11,12, 14}
B=1{4,6,7,8}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13}
A=1{6,7,11,12}

No03 = B=1{3,8,12}
C=1{0,3,4,8,10,13}
U=1{2,3,4,5,6,7,8,9,10,11, 12,13}
No04 = A=1{2,3,4,6,7,8,9}
B=1{2,12,13}
1=B 2=B -4 3=(4 N B)
No05 = 4=B N C S5=4U(BNC) 6=(4UB)n (4uU C)
7=(C-4) U (C-B) 8=4-C 9=(4-B)-C

X [Page = 0027] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXKXKXKXMA/1-6400101-00055XX
Set01l for No.644129

U=1{0,1,2,3,4,5,6,7,8,9,10}

No0I = A=1{1,2,3,7,9}
B=1{1,3,5,6,7,8}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13}

No02 = A=10,1,6,8, 13}
B=1{0,2,4,7,9,12}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20 }
A=1{4,6,11,16,17, 18}

No03 = B=1{10,13, 14, 15,17}
C=1{5,7,8,14,15,16, 18}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14}
No04 = A=1{5,8,11,12,13, 14}
B=1{5,7,9,11,12,13, 14}
1=B 2=4-B 3=4 UB
No05 = 4=B U C S5=BNn(A4duUC) 6=(4nB)u (Bn C)
7=(B-A4) N (B-C) 8=4-C 9=(B-C) -4
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6400101-00056XX
Set0l for No.644130

U=1{3,4,5,6,7,8,9,10, 11, 12,13, 14}
No01 = A={11,13,14}
B=1{3,6,9,10, 14}
U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No02 = A=1{4,6,8,10,11, 15}
B=1{4,56,12,15}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16, 17}
A=1{1,5,6,11,13,17}

No03 = B=1{1,11,13, 14,16}
C=1{1,3,5,8,9, 14,16}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12,13}
No04 = A=1{1,4,59,10,12,13}
B=1{1,3,8,12,13}
I=4 U B 2=B-4 3=(4 U B)
No05 = 4=A4 S5=BNn(4uUC) 6=(4nB)uU (Bn C)
7=(B-A4) N (B-C) 8=4-C 9=(C-A4)-B
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